2 3-1 = pr[13]¥ enbhitie

" <k
E1(GPa) 68. 9 0. 37
E2(GPa) 68. 9 0.15
E3(GPa) 68.9 0.15

Poisson’ s ratio 0.3 0.3
G12(GPa) 26.5 0.134
G23(GPa) 26.5 0. 052
G13(GPa) 26.5 0.134

Density(p)(Kg/m’) 2770 122

% 3-2 = RE[13]8 ANSYS & =75 f 2oif 5 A 45 1+ 4

Shel191 Shell91
< JE[13] (BE= s | (2 Bz p Shell99

i 35) IiEIE)
Mode 1(Hz) 23.05 23.275 23.464 23.464
Mode 2(Hz) 43.91 44.649 45.167 45.167

Mode 3(Hz) 71.06 70.092 72.1 72.1

Mode 4(Hz) 78.37 79.926 81.311 81.311
Mode 5(Hz) 90.85 90.887 93.795 93.795
Mode 6(Hz) 123.82 125.22 129.92 129.92

54




Z25-1 2 & E R

ol

EE A TARE(d P A

R E RETET

FEFEHDP RS | AXHEETD BB | 7§ PR R PR EREREA

(dB) (dB) (AdB)

(=& A) 79. 89 66. 61 13. 28
(11~12) 77.8 64. 86 12. 94
(10~13) 7.1 65. 08 12.02
(8~15) 76.11 70. 26 5.8
(6~17) 75. 28 70. 06 5. 22
(4~19) 74. 54 68. 12 6. 42
(2~21) 13. 87 67. 28 6. 59
(1~22) 13. 54 68. 22 5. 32

% 5-2 % 4 TR ¥

at=

oy =
IR

L BB A p R G T )

FEEEDRE | AR VRO R S SRR | Y5 s REFA
(dB) (dB) (AdB)
(=& A) 19. 89 66:61 13. 28
(1~2)(21~22) 77..08 71. 36 5. 12
(1~3)(20~22) 76. 60 71. 56 5. 04
(1~4)(19~22) 76. 08 71.92 4.16
(1~6)(17~22) 75.2 72.0 3.2
(1~8)(15~22) 14. 48 70. 56 3.92
(1~10)(13~22) 13. 89 68. 83 5.02
(1~-11)(12~22) 13. 54 68. 22 5. 32

55




B 1 imdie i 2 Al i 4

W |

Bl 1-2 drddr 5 T o i) B8

56



ol

B 2-1 4F & HOE A = Ak 8 5

57

vl



Xy

Bl2-2 FEHBEMEFLERS w2 &4 8848

58



@
V4
—T— - 2™]ayer group (shell)

T 70
== 1% layer group (core)

T e
-l—. 39ayer group (shell)

A
/ N A
(7 \ A
A
Z, Z
Z3 Zz
Middlessurface Yy VY VvV VY
i A A W
z
Zk—l V4
k ZN-] V4
\ ;
/ X \ \
( N \ \
\ \

Bl 2-4 F k42 Bie & R dic s b

59



Response amplitude, m

A ' -
KL3 E KR3 a
Kr1 i K
L :
KLl KL2
B 2-5 AL R Z My 2 B i
—— amplitude
. 90E-009 peak mesponse —— peak / sqr(2)
. 00E-009
. 50E-009 f f,
. 00E-009
. 50E-009
. 00E-009
. 00E-010
. 00E+000
T T T T T T T T T T T
1000 1200 1400 1600 1800 2000

Exciting frequency f, Hz

Bl 2-6 #F F -4 ]

60



Damping Ratin, \ Total

: —

[G-damping

cr-damping

i8] 2-7 Rayleigh Damping

61



10 100 1000 10000 100000

------------------- Electrical/Mechari 7 -amet

Revc(DC VC Res) = 3.9646 Ohm Qms (Mech Q) = 29832

Fo (ResFreq )=163.5751Hz Qes(Elec Q) = 13776

Zo (Zmax at Fo)= 12.5498 Ohm Qts (Total Q) = 0.9424

Sd (Piston Area)=  0.0011 sgM Vas(Acous Vol) = 0.2412 Litr

BL (Flux*Length)= 1.3982TM Cms(Compliance)=1432.3970 uM/N

no (RefEffncy)= 0.0741 % Mms(Total Mass)=  0.6609 Gram
SPLo(SPLat 1W )= 80.7168 dB Mmd(DiaphmMass)=  0.6402 Gram

B 3-2 %= & himdfrif 5% S8
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NODAL SOLUTION

AN

3TEP=1 SEP 2 Z00g
SUTE =2 23:34: 50
FREQ=153.1Z21
uz [&VG)
R3YV3=0
DID =41.166
SMN =-4l.166
.—41.166 -4.574
u}
» ) " 4 2 4 s A

B 5-3a 0Hz~5000Hz & #  SB R A= (K ehp SRR H Hio ik
NODAL SOLUTION A-N
STEP=1 SEF 2 2006
SUR -5 23:38:22
FREQ=453. 4386
0z [AVE)
RITI=0
DITX =90.62
SMN =-90.62
SMK =45.261

.—EJD. 6 30.163
-75.522 45.261
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NODAL SOLUTION

STEP=1
SUB =9
FREQ=1211
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DIT{ =54.41
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23:139:11
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NODAL SOLUTION A-N
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FREQ=3714
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-134.047 -77. 3256 -z0.87 26.017 97703
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Bt = : = S PN S Jat— A=
B] 5-3e OHz~5 : Renp ZRI=D Fi iy
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DITY =223, 530
SMN =-61.336
SMY =223. 539

-61.336 1.969 65.275 125.581 191.887
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